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vyl

. Note :Thi_s paper contains FIFTY (50) multiple-choice/Assertion/Reasoning

Matching questions. Each question'-carry'ing TWO (2) marks. Attempt All

the questions.

Doul sl wAR (wo) agRsedly dsll, WEE A ASs eirlladiel Wl

8. dM Nl gaud duary 8. xds w4 () am B,

Name the philosopher who proposed
the technique of questioning :
(A) John Dewey

(B) Socfates

(C) Comte

D) Frbebel

Which of the following skills does 2.
. not require high intellectual

ability ? |
(A) Technical skills

_(B) Mechanical skills

(C) Teaching skills
D) Manﬁgement skills

Primary education in ‘the mother

tongue has been safeguarded in
Article :

(A) 29
(B) 350
©) 220
M) 351
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What is the full form of CAI ?
(A) Computer Associated Instruction
(B). Computer Associated Information

(C) -Computer Assisted Instruction

(D) Computer Assisted Information’

For maintaining discipline in the
class :

(A) Stude_ntsl should be severely

punished for acts of indiscipline

(B) Teacher should try to make his

teaching .interesting

- (C)y Non-at.tenc_ling students s’hoﬁld-

be turned out of the clasé

(D) Parents of the indisciplined
‘students should be informed

If the sample drawn does not specify
any conditiqn about the parameter

of the bopuIation, it is called :
- (A) "'.Selected statisti(l:s

| (B) bistribution free statistics
" (C) Parametric statistics |

(D) Inferential statistics

" Paper-I—A
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Validity of an exﬁerimeﬁtal desigh

refers to :

" (A) Maxzimise treatment variance
apd minimise error variaﬁce

(B) Minimise both tre&tm’_ent

variance and error variance

©) Testing the difference between

" treatment variance and error

variance - -

(D) Minimise treatment variance

and maximise error variance

Which one of the following is not

" considered as plagiarism ?

(A) Make use of the work of another
‘and _nﬁsre’present it as your
own

(B) Drawing content from the
work of another without
acknowledging the source

" (C) Paraphrasing too closely to the
original text

(D) Drawing content from another
work and adapting it with due
acknowledgement-
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9. | Bibiiography refers to : R 9. ;ﬂgg{ﬂ\[ﬁl | Q,*n_aa: : o

(A) A true story written about . L -
(A) WAl adal sidsw [@y avel

- someone

. g | , (B) RIS euldel ue-uvii-l dsts
(B) A record of events presented in -

a report : - ' (C) Al wel 3 °3’_"t\l Byyiol

(C) A list of sources used in a _ RS s3d © el 3 wiid

report and where they can be . _ |

- | suidl a4l
found o

(D) List of abbreviations used in (D) "‘a“aﬂ_@?ﬂ Hel ¥ R‘llé‘-ll

the report : | Quzdg €3

: 10. Snowball sampling technique falls 10, ‘aiislla’ Fesl uisoll sl us12 0

under the category of L A B
(A) Probability sampling (A) %imﬁ-u [-_‘1&2[_ | u%iéﬂ

; (B). Non-probability S#mpling. - (B) [BiriRicuacl [Resl vaiedll

L (©) Rapdoﬁa sampling o (O wglos (uw[%w) fed ﬁzieoﬂ
(D) Quota sampling D) Fma_ Raru Fed wisoll

~ Paper-I—A - : 6



Question Nos. 11-15 _sh&uld be

~attempted from the following _

paragré.ph .

" Below is given a passage followed

bjr. five possible inferences ‘which

can be drawn from the facts stated
" in the passage. You have to

examine each inference separafely

in the context of the passage and’

decide upbn its degree of truth and.

félsity. |
Passage : “The fifth conference of

Labour Ministers of Non_-Alig_ned

and other develdping 'cou'ntrie's '

which concluded in New Delhi on

January 23, was not just another
bonference held under the aﬁspices
of International Labour Organiza-
tion to discuss labour welﬁare. For
one it was in the fun-ﬁp to the world

summit on social development that

Paper-1—-A
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1L

fhe conference was held, and for

" another, it was under the shadow

of the demand by the industriglised
countries to link lﬁbour sf.zindards
to Interﬁational trade through a
social cause. The conference covered

a large part of the ‘agenda to be

-discussed at the summit to be held

at ‘Copenhagen in March, i.e.

emplqyment' creation, poverty
reduction and eradication and
social integration.”

Now answer the following ques-

tions :

The fourth conference of Laboﬁr

_. Ministers was not held at New

Delhi :

- (A) The inference is probably -'tr_ue

(B) The inference is probably false

(C) The inference is definitely false

(D) The data ére'iﬁadequate

Paper-I—A

11

WL ARG~ 2eiBis el uio Wl

i UMY ez 2 ollot 2l wd

AU UAHDS sRAUS ASuy v

eg, i ddansl s 3yl Al el
¥ maiﬁi SRTE] s‘tﬂ-{éamﬂl_ Adetrtetl
E{léll;{. Gedld wudl Az sd. 2u
3 oudl qﬂizcﬂ,' atil_o{l' gasdl A
52l A ALy RAselt PR

(AU Wil w2

s e Ay ARa- Redlui dlony

odeg

(A) dt Freslal wdddl dewa
B) . Fosslui viiarl deuas

(O 2 el Alssy Wid 6

@) culedl 2wyrdl 8



12, e ... orgamzation took 12, ........ %l.oléq.)lal"l Cl"-"l& AM M4y

an active part 1o & canference ?f gL AR ARl ABU eudl”
Labour Ministers for the first time. | -
o . eflal.
(A) International Monetary Fund _ | _ o
- | : (A) widsdlu -usudly eisio
(B) International Labour Organi-

. zation (B) iy als Auert
(C) World Health Organization (C) [a=a a»u?.‘loq At
(D) UNICEF " ' (D) UNICEF

13. Linking Labour standards to 13. aBsiqdl AR A Sl Q,u.

International trade would benefit 343310 fly ayuiR WS ...

the ..o countries -%&i\ﬁ o 3;,_;&_.

(A) Advanced | (A) %ll:‘il‘{

(B) Developing | ' |  ®B) RAswula

(C) Developed o @ [a._s,[m |
(D) Industrial : .(D)'-_ wilelPis

Paper-I—A | ‘ 9 | [P.T.0]




14. Among the following topics which 14
of them is not discussed at the

Copenlia._gen Coqference ?
(A) Employment
(B) Poverty
(C) Technology
(D) Social Integra.tior.l-
15. | Which -of the following is fhe reason
for organizing the fifth confergﬁce

qf Labour Ministers ? |
: (A) Compulsion by ILO
(B) To satlsfy the gﬁvernm‘eng
(C) To run-up to thg world summit

(D) Causal meeting of Ministers "

Paper-1-A - | 10
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16.

' 17.

18.

Message is any signal that triggers 186,

the response of a e eemeeren .
(A) Recéivér

(B) Seﬁder

(C.) Channel

(D) Feedback

Qur dress code is an example of 17.

......................... .communicat-ion. '
(A) Verbal
(B) Non-verbal

(C) Written

(D) Spoken

..... rererrersnneennnens 18 the process by 18,

which the receiver interprets the

symbols used by the source of the

Tnessage.

(A) Listing

(B) Listening

(O Deéod.ing

(D) Encoding

Paper—I—A | . _ . 11
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19. Identify the correct sequence in the

communication process :

(A) Sender — Ch_annel.—- Megsage.
— Recgiver
(B) Sender — Receiver — Message
- Chamél .
(C) Sender — Rééeiver — Channel
— Meésage
(D) Sender — Message — Channel

— Receiver
20.
* called ..... S——
@ Proxemics |
(B) Kinesics
(C) Phonetics

| (D) Chronemics
Paper—I—A

19, ueuadl wBani wAl s

The study of body language is-

12

Ml“l.‘*fl :

(A) Misast? — Ad (Guse) — ARy

- {Aa-R

(B) Wsarllz — AAAAUR — W —
Avie

©) u‘tse_tvuz — ANA-R — I--5l-t€t -

Hza

- (D) AsaR — ¥R — dAng -

20,

Ol EETE

oisl dade-l el § sdain

B T :

(A MisaliRsu

B) sO-AY
(C) s‘:&[ésa

D) si-fsy
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22.

following :

(A) 26
(B) 82
(©) 83
(D) 86

If P means x, R means %, T

‘means + and S means —, then

18T3P988R6 =?
A) 52

(B) 2
3

- (C) 46
(D) 58

way Wide is related to ............... .
(A) Short

(B) Big

(C) Narrow

(D) Long

Paper—I—A |
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21. Find out missing number in the 21 il o 8dd) +ioR Wl :

22,

. Young is related to Old, in the same’ 23.

uWed
18T3P9S8R6 = ?

8 d ¥ d [_Qua 2

(B) 82

(C) 83

D) 86 -

A P Aed x, R #2d 4+, T
Al 8 Med -, di

(A) 52

2
Py

(C) 46

D) 58

yael 3L ARSL WA ¥ isaida
18

| _' é’tstfl_tﬂa 8.

Q) &
® Mg

(C) sy

(D) 4y
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.24.'

25.

26.
-~ group of words that shows the same

If SUMMER is coded as RUNNER,
the code for W'INTER will be :

(A) SUITER

(B) VIOUER

(C) WALKER

() SUFFER

24.

Find ocut.the missing term in the .

following series :

0 7 26 63 124 ...
@A) 215
(B) 216

(C) 248

D) 157

In the following question choose the

the question :
Play : Win : Loée_
(A) Accident : Death : S'ur-vive
(B) Examination : Succe's““S
Determination. '
(C). Read : Book : Magazine
(D) Music : Dance : Art |

Pape-r—I-ﬁA

‘relationship as given at the top of

14

25.

26..

(A)_

B

% SUMMER -\ RUNNER d 313 203d
saMi 20 di WINTER i 23d
ad? '

(A) SUITER

(B) VIOUER

(C) WALKER

(D) SUFFER |
DA Aeflui vedl Avar siidl ;o
0 7 26 63 124

.......

&) 215
(B) 216
(C) 248

D) 157
L uaUD A Al use Ayl
waigoll s ¥ A o LETER TR C U
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WU : W SR
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27. What is the missing number in the 27.

28.

following sequence of _mimbers ?

84 81 88
14,12 18,9 2,11 .
(A) 13 |
(B) 14
© 15
D) 16

In a group of persons travelling in  28.

a bus, 6 persons can speak
Malayalam, 15 can speak Hindi and
6 can speak Guj arafj. In that group,

none can speak any other language.

If 2 persons in the group can speak -

two languages aﬁd one person can

speak all the three langﬁages, then

- how many persons are there in the

group ?
(A) 21

(B) 22

(C) 23

(D) 24

Paper_1—A
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84 81 88
14,12 18,9 2,11

@A) 13
®) 14

©) 15

(D) 16
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followed by four conclusions are
given. You have to take the two
given statements to be true even if
tIiey seem to be at variance from

coﬂmmnly known facts.
Statements :

(1) Some doors are mangoes.
(2) '- All mangoés are bananas.
Conclusions : |

(I) All bananas .arle mangoes.
In Al dbors are bananas.
(II) Some doors are bgﬂan&s.

(IV) Some mangoes.are doors.

. 29. In this question, two statements

Which of the given conclusions .

logically follows from the two

statements, disregarding commonly

known facts ? |

- (A) Only I and II follows
(B) Only II and III follov;rs
.(C) Only' IIIIa_nd v follows

(D) Only II and IV follows

Paper-1--A
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-30. The pie-diagram below shows
various expenditures incurred in

publishing a book :

¥
cost (15%) .,:,:.

Binding cost (30%)

If for an edition of the book, the cost
of paper is Rs. 20,000, then what
is the promotion cost for this

R edition ?
(A) Rs. 5,000
(B) Rs. 6,000
(C) Rs. 7,000
(D) Rs. 8,000

31, If 2"-0” -1 - (2?1 - I)Cn =

then what is the value of n ?
A) 2

B) 3

© 4

®) 5

 Paper1—A
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31.

30, As adousiz Rst wlda B, Fui s

Yds UstaAAL wal 2uda &

Transportation—§4

XX _
c0st(10%)  RATERESERY Paper
' i gg cost(25%)
Promotion P

Binding cost (30%)

R s Yacisil A4+ vl 20,000 3.
Sl 3L it fize (MR wal)
g ad ?
(A) 5,000 3.
(B) 6,000 3.
© 70003
) 80003
RA2mC, _4:(2n-1C, =53,
dln oAl Bud g oy ? |
) 2 |
®) 3
() 4
D) 5 .
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32 The average of a set of 7 observations

is 86 and that of another set of 13
: observatlons is 46. What is the

combined average of the set ?
@) 405 |
"I(-B)'_4\1.5 |

(© 425

D) 435

. The following circuit operates only .

if th_eré is a path of functio_ﬂﬁl'

dev.ices from left to right. The
pmportwn that each device functlon
is shown on the graph. Assume that

‘devices fa_ll independently. What is _

the proﬁortion that the circuit

operates ?

0.90

4 0.95

0.79

: 0.98
0.95 .

(&) 0.9795

(B) 0.9879
(©) 0.9915
(D) 0.9998

Paper-1—A
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33.

RA 7 a»tqeu,&v:u-[l auaz‘l 36 s8Iy a»t-‘-l

13 a»tqc—u&vuv[l Al 46 em dl

dysd AR Yedll Wy
&) 405

®) 415

(C) 425

(D) 435

{13 a-ufla a[ia °zh su?lall w'eﬂt’ug

g s dl % selad oA B, dotel

QY el S s W {1

A EHL D, WL dotell s oL

dcdA A s snL (st iy

dl e Jedl wHRml s 54

0.90

0.95

{079

0.99

0.98

0.95
(A) 0.9725

.(B) 0.9879

(C) 0.9915

(D) 0.9998



34 ‘The value of-. % ’is : 34. 63\7—2[_ q ‘j\-?-l.?
@ 3 o w3

- ® 6 | | o (B) 6
© 9 | : | © 9
@i - D) 12

35. A bag contains 2 red, 3 green and g5 s Qeuni 2 @iy, 3 dletl 13 2 &4

2 blue balls, Two balls are dr S @ i @ i
ue. 8. Two ba 531'9 rawn olel 19, 6 ol o sEHs Vi

at ranciom. What is the probability N ' ) |

S A dl ¥ A donan B wui 518
that none of the' balls drawn is | o |
| YR 642 eld A g

blue ? ‘ .
(A)% | o -(A)%‘
® 5 . o ® 5
(© ;—2 | _' © g
(D)g | o o -g
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| 36. CD-ROM- stﬁrids for :

| | 36. CD-ROM 32d :
(A) Compactable Read Only

- Memory - S &) s As inedl AR
(B) Compactable Data Read Only - A
~ Memory o B sMsea sl s idd] iRl
(C) Compact Disk Read Only - - |
Memory - (©) sivise slas Fs i-ell Vi
- (D) Common Disk Read Only o - | o
Memory _ D) st Sy S iindl AR
37. WAN stands for @ 37. WAN 324.-:
| (A) Widg Area Network A ass AU Azad
(B) Wireless Ac;:ess‘: Network (B) <lu28y AW A2as
_ (C) Wireless A_rea Network () qmi@n{ A L Azal
D) Wide Access Network - (@) aifs ada A2ad

38. A computer cannot ‘boot’, if it does - 38. $1Y2 HH _ng[-i" a3 el 53 i

| iw; have the : __ D ggﬂ &r[l. iuﬁ_ .......... Al @fl*{:.
_. @) C?mpii?f | . o @& ;t;m

"'.(B) Loader B | (B) dis?-

(C) Operating System o (©) gL Ren

(D) Keypad o @ s |
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39..

40.

41.

Human beings are referred to as

‘Homo sapiens. Which device is

called Sillico sapiens ?

(A) Computer

(B) Hardware

.{C) Robot

(D) Dvone .

1 GB is equal to .....coceevveiirireeneinnn

. (A) 1250 megabytes

. (B) 1296 megabytes

(C) 1150 'megabytes

(D) 1024 megabytes

Whi‘.ch if; India’s first bullet train
projé?:t ? E

(A) Mumbai—Ahmedabad

(B) Delhi—Chandigarh

(C) Delhi—Jaipur

(D) Chennai—Kolkata

Paper-1—A

39, AR AR sda B dl
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41,

sul 4o AlRs Agla-n sdauu ?

(A) $¥y23

C(B) wisdR
©) Reii2

O <ldi-

HAUNR B,

-----------

(&) 1250 Asueuse

(B) 1296 Q_&u&uﬁa
() 1150 Nzsuse

@) 1024 NawousSe

 o1Rd+dl udel e 24 MiFse sui ¥7

(A jaS—uMElE

(®) Reel—iglog
(©) [?.g-e(l—.wgz_ '

D) A-S—sesTl

| [P.T.0.]




.42, Sulireme Court of India has ardered

the transition of vehicles to which

BS level 2

(&) BS-V

(8) BS-HI

(C) BS-VI

@ BSIV

. Scientists have déveloped a néw
battery material based in ...........
- with chargmg speed 5 ﬁmES faster
than lithium-jon batteries.

(A) Graphene

(B) Carbon

(C) Nitrate

(D) Chromium

. Which is regarded as one of the
world’s hottest hotspots of biological
diversity ? o |
(A) Rann of Kutch

(B) Western Ghats

(C) Eastern Ghats

‘ (D) Thar Deserts

- Paper-i—A
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42. 5 BS Asa-ll 3, sudul Ylu

si8n edlser] 22t Wit Uy B?

(RatdE M)
(A) BS-V

(B) BS-III

(C)y BS-VI

(D) BS-IV

. AWASR A Adl A2 Fdl wsll

ol 8, Fell AR ... B
AA-{l 12801 AR efleflym viuA A2l
iz -oell awR 3.
(A) Wi |

(B) 310+

(0 -usge

M) sy

. 3Rs AR Wl Boani ugll -

Ry oyt Yl B

(A) 5%9d, W'

(B) wruy w2

©) yd we

D) g I
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45. Which Indian astrophysicist and 45 sy cu3dly gl ;_,lq qAed

Nobel laureate predicte(i rapidly
- rotating stars emitting polarised

light ?
(A) 8. Chandrasekhar
(B) C.V. Raman

(C) S. Ramanujam

(D) Venkat Raman Ramakﬁéhnan'
. What is the full formn of NIRF —

a methodology to rank higher

educatidn institutions in Indiﬁ_ '_?

(A) National I_néfitute of Res’eé;_ch
Frameﬁvork _ |

(B) ..Nationall and I_ntern‘ational.

Ranking Framework

' (C) National Institutional Ranking

Framework .

" (D) National Inventory of Research

Funding

. 23

RBUD 24 5703 it 2y Rl
Uellusrs aife Gt iy & ;-
(A) AU, AsduR

B) .l 2m-t

© . AL

D) ds2 i wngAd

46. NIRF 4 43 -ux g 87 6w Rt
Al AMABAHL Ygl WA sMis

18

(A) National Institute of Research
' FrarﬁeWork |

{B) National _:e\.nd. Ihte_rné.tional
Rankmg Ff@ework |

(C) National Institutit:;nal Raﬁking

Framework

‘ '(D) National Inventory of Reséarch

Funding

[P.1.0.]




47. ‘SWAYAM’ is a portal initiated 47, 2adu’ WA #irl gLl U3 $UHL

by : a - | - ey ?

(A) NITI Aayt;g o | .(A) Rl z»utﬁdl.
(B)-mn : - . ® 'a?tﬁ_.a?m.a:uz.&‘»l.

_.(C) mnisny of I&B o | (C) | wsS.. Q*l-:l ofl.- [ﬁ-[?éil'
_(I.)'):' l\rﬁnigt.ry; of Railways - ._ o @ (et

48. ‘AICTE’ is responsible for the  4q A710TE oqoie1z B i, usast

planning, _coordinétion and :
' - | WA QAW W2
management of :
| (A) Teacher. Education - - -(A) Rasi w2 e (wEaw)
(B) Distance Education |
| B) gradl [aae
(C) Technical and Management - o
¢ i
Bducation (C) éa[-jgi B o (Raw
(D) School Education = © wd Qe

i
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49. In _who’s name the National Mission

50.

on Teachers and Teaching has been

launched in India ?
(A) Pt. Dindayal Upadhyaya

(B) Pt. Jawaharlal Nehru

(C) Pt. Madan Mohan Malaviya

(D) Pt. Ravishankar

In which state the first children’s

university was established in

India ?

. (A) Maharashtra

(B) Rajasthan

(C) Madhya Pradesh

D) Gujarat
Paper1—A

49. ouqMi Aara Man Basi e w1

b60.

Raa wela w2 AL el dia 2
9

(A) Uldd dlewa Gusd

B) ulsd ﬁqteaeu_@. 83

(€) ﬁ.[s:t Weridien maoﬂm

D) ilsd Uqus2

all2dell SdL WwUM uddl sua

RsaRienau-d au-n as ?

C(A) U8R

(B) - A

(C) HBNRYU

® A

[PTOl
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